DANCOVER®

Manual
for
Pergola Gazebo San Fernando
3x3m, 4x3m and 4x4m

21-02-2025



2941 x294W cm
116"x116"

394L.x294W cm
155"x116"

394L.x394W cm
155"x155"

V4.0 20241220




235cm
BN 925"
I8}
&l
2 || ¢ || =/ %z\ &, S || =
>1. 5m| |8mn 10mm | | 13mm 13mm &) >6m 10mm




<3§i> X2

X22+(2)

?10x50

x12

@ | &

X3

@

x1

® ”
%6
16
= x4
@ % X2 @
B6x16
M6x8
@ x4 @ x4
M6x10 VG
(:::) éz}" x4 <::>
M6x12 M8X110
@ 2. x4 @ x16+(2)
M6Ex16 o8
:: » 4 @ x16+(2)
M6x20 s
D | *—llB P
M6x30 x32+(2)

®

éiiaakkahhzle
M8x75

® Q0 0 6 0|6




><4

x1

x1

use material

//

/!

A\

\




use material

- - ~




@XE

@x4

@x4

use material




><1

A «| B «

use material




><1 @xg @XE

use material




HE

G)

©




o
b
i

I

,\/

X

AN
NN /
, !
b
B | G \

o
o
-/

@ x4
use material

i

I \ \
| \ |
N\
! |
\ x>
\ X! ]
V\/ 7
‘7 % 7
\ / /
\ = /
7
AN \/
N A
~ /\
~ -




Xl @ x1 @ x1 @ x4 @ x4 @ x4

use material




A) «

@x4

><4

use material
' ]

O @

|
|
|
\
\
\
\ |
\ |
\
\
\
\ .
\
\
\
\

inside




[o]«

@XE @x4 @x4

use material

wr




x1'1 @) x16

15 x32

use material




<11 @9 x12| 0D xte| @ xie |@ xe

use material

=

0)) BUH-II'.@l

\\\ =
-
e
d
\@@@
/
/
/
L

Q) Comm [ | - -

©
i N

im0

-

:/ 9 E@l

!
I
|

=(}

Qa2
N I

~ I
~ -
~ -
~ >< -
~ f . -







up key

/] Stop key
[:]’/ down key

'

== S1 key

| Keep pressing the

{
!'Notice: i
|
l

@ trip:——(Eabric clos;é) r — trip:——(Ee;b_r_i_c"o_p_e_rZ)

Keep pressing the

until the fabric was closed completely until the fabric was closed completely

The position can be adjusted he position can be adjusted
by pressing [up key][down key] y pressing [up key|[down key]

!Notice:

— = [Stop kev]xI —= [T key] X2 - —=l  —» [Stop key]xl —» [ST key| X2







DANCOVER®

Contact information

Austria

Poland

Belgium

Ireland

Croatia

-#F-E-

Portugal

S

=

Spain

.
- ':_1-?1- y

M.

Denmark

Estonia

=] Fr[E]
=

[l e =

SR
R
OO

Switzerland

-

|"|!""-al' a5
-:I:F'L'*-:.. T

Finland

France

o7

-

Norway

F =l .
L | 02t

For more information please visit: www.dancovershop.com




